oooboooob 201700 02000b00od

01 00000000000000000000 ()-(2)Dooooooooooooo
oobooboobobocoobooboobobooooooooonbooDo

int *p;
int x[3];
p =X

(1) D000 int *p; int x[3]; 0000000000000 O0OOOOOODODODOO

Oo)
p : int *
x : int [3]

(2) (H)OODOODOOp,x000D00O0O0O0DO0DOOOODODOOODODOODOODOOOO
J0dddpe=xU000000000O0OOOOOODODOO
@Oo)
x : int [3]
p : int*x x : int &
p=x : int &

020000 (M. \.z) (M\z.2)w)0000000000000000000 (Ay. w)
000000000000000000(000000000000000000000(@

(0o 1)
(Az. Ay. x) ((Az. 2) w) —7;—>(Ax.Ay.x)1u — AY. w

(00 2)

(Az. Ay. x) ((Az. 2) w) — Ay. (Az. z) w) — Ay. w

03 000 cCcC++0o0o00oooooogoooooooooooooooouooo
#include <stdio.h>

class B { class D : public B {
public: public:
virtual char f() { return ’B’;} char f() { return ’D’;}
char g() { return ’B’; } char g() { return ’D’;}
char testF(B *b) { return b->f();} T;
char testG(B *b) { return b->g();}
s

int main(void) {
D *d = new D;
printf ("Yckc\n", d->testF(d), d->testG(d));
return O;

by



@o)

DB

04 000 (1), (2000000000 (00000)000000000000000
0000000000000000000000000000000000000000
000CO00000000000000000000000(1)0(2)00000000
00000000000 ¢={(X3),(Y,1),(z,0}0000

(1) z=(X+4);
@o)
<X,o0>—=3 <40>—-14
<(X+4),0>—>7T
<Z=(X+4);0>— o7/Z]

OO00ddbbeedbOOobObObOobObD Z=+4);0000000ODODO

0[7/2] = {(X> 3)’ <Y7 1)7 (Za 7)}
ooon

(2) while(V){Y=(Y-1);}
o)
<Yo>—-1 <ljo>—1
<(Y-1),0>—=0 <Y,00/Y]>— 0
<Y,o>—1 <Y=(Y-1);,0>— 0[0/Y] <while(Y){Y= (Y—1);},0[0/Y] > — o[0/Y]
<while(Y){Y=(Y—1);},0 > — o[0/Y]

ODO0O000b0O 000000000 while(W{y=(y-1);}000000000O0

o[0/Y] = {(X,3),(Y,0),(2,0)}

gooo

05 U000 Pascal DO ODODOOOODODOODOODOODOODOOODODOODOODOO var
O0000000Ocall by reference 00000000 OwritelnO0O00O0OO0D0OOODOO
ooon

program test; begin

var x : integer; x = 3;

var y : integer; y = 4;

procedure swap swap (x,y);
(var x: integer; writeln (x);
var y : integer); writeln (y)

var z : integer; end.

begin
Z I=X; X 1=y;y =z

end;



@o)

06 UO0O0Pascal UDUODODOO0OOO0OOOOODOODODOODPascalDOODOODO
00000 (scope) 00D OO staticscope 00000000000

program P;
var n : char;
procedure W;

begin
writeln(n)
end;
(oo)
L
L

procedure D; begin
var n : char; n :=’L’;
begin W;
n := ’D’; D
W end.
end;



